N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy [N of associated (recoTosim) looper tracks vs dxy

1%} (%] [%]
x x B4
S & S 6 %
£10 g0 €10
[ Q
2 2
10° *10° £10
[=%
=]
3

=
Q
>

ol L

DQM_CKF_TT_base_noSel

DQM_CKF_TT baseT125 noSel
0 v v 29

o

[N
o
w

o T TN T T — T T —TTTTEy T T T
=
o
w

oy T T T T T T T T — T T T

oS 29
1 -
0'—“25—20—15—10 -5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L o F
g g
=10° =1
() Q
S 5
= ke
a1
=]
=

°¥e 20 -10 0 10 20 30 0 20 -10 0 10 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


